Math 2271: The third Test, November 10, 2017
Use only papers provided.
Time: 50 Minutes
Your name: jaﬁt 74‘&1/]
Your student ID:

Your signature:
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Problem 5: Your Mark 25



Problem 1(20 points): Consider the equation

t*y" — 3ty +3y =0, t>O0.

(a) Check if y = t is a solution;
(b) Using the method of reduction to find another linearly independent solution.
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Problem 2 (20 points) Find the inverse Laplace transform of the function
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Problem 3 (20 points) Using the definition of the Laplace transforms to find the Laplace

transform of the following function

1, 0<t< 2
f(t) = 0, 2 <t <4

e 3t t>4.
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Problem 4 (20 points): Use the Laplace transform to solve the following initial value

problem
y"(t) +4y(t) = 9(t), ¥(0)=0, ¢/(0)=0
where
1 0<t<l;
glty=q 0, 1<t<2
. t>2
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Problem 5 (20 points): Using the method of Laplace transforms to solve the initial value
problem

Y —y=t-2 y(2)=39(2)=0.
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